MEMORANDUM

TO:	Seattle Colleges Board of Trustees
FROM:	Kurt R. Buttleman, Vice Chancellor – Academic & Student Success
DATE:	January 24, 2022
SUBJECT:	Summer & Fall 2021 FINAL Quarterly Enrollment Report

For current Seattle Colleges' information on FTES please reference: <u>https://inside.seattlecolleges.edu/enrollment/</u>

State Funded FTES:

Summer & Fall Quarters 2021 analysis

- Combining Summer and Fall 2021 enrollment, the District decreased 7.31 % in State Funded Quarterly FTES (decrease of 1021) compared to State Funded FTES of Summer and Fall Quarter 2020.
 - The largest decrease was at North Seattle which was down 10% from 2020.
- Statewide, the SBCTC system decreased 5% for Summer & Fall Quarter combined.
- Summer and Fall as a percentage of annual total:
 - FTES for Summer and Fall Quarters comprised 31% of Seattle Colleges' annual target. This percentage was 33% in 2020.

International FTES:

Summer & Fall Quarters 2021 analysis

• The District had a decrease of 850 International Quarterly FTES compared to 2020. This was a 46.4% decrease. This is a significant reduction caused in large part by the pandemic.

Running Start FTES:

Summer & Fall Quarters 2021 analysis

- We do not offer Running Start in the Summer.
- For Fall 2021, the District had a decrease of 361 compared to Fall Quarter 2020. This was a 25% decrease.

						State	Funded	FTES (Su	mmer &	Fall 2021	l FINAL)						
Year	College	Actual Summer	% of Summer Target	YTD% of Annual Allocation	Actual Fall	% of Fall Target	YTD% of Annual Allocation	Actual Winter	% of Winter Target	YTD% of Annual Allocation	Actual	% of Spring Target	YTD% of Annual Allocation	Total Quarterly FTES		Total Annualized FTES	Annual Target
2021-22	District	3,802	82%	9%	9,136	71%	31%	0	0%	31%	0	0%	31%	12,938	÷3=	4,313	14,108
	Central	1,419	82%	9%	3,448	72%	31%	-	0%	31%	-	0%	31%	4,867	÷3=	1,622	5,307
	North	1,106	76%	9%	2,745	73%	31%		0%	31%		0%	31%	3,851	÷3 =	1,284	4,133
	South	1,277	88%	9%	2,943	69%	30%		0%	30%		0%	30%	4,220	÷3 =	1,407	4,668
			% of	YTD% of			YTD% of		% of	YTD% of		% of	YTD% of	Total		Total	
		Summer	Summer	Annual	Actual	% of Fall	Annual	Actual	Winter	Annual	Actual	Spring	Annual	Quarterly		Annualized	Annual
Year	College	Final	Target	Allocation	Fall	Target	Allocation	Winter	Target	Allocation	Spring	Target	Allocation	FTES		FTES	Target
2020-21	District	4,177	81%	10%	9,782	81%	33%	9,266	78%	54%	8,424	74%	74%	31,649 4	- 3 =	10,550	14,219
	Central	1,727	108%	11%	3,540	81%	34%	3,488	80%	57%	3,208	76%	77%	11,963 4	- 3 =	3,988	5,161
	North	1,506	105%	12%	3,058	83%	35%	2,793	79%	57%	2,518	73%	76%	9,875 4	- 3 =	3,292	4,332
	South	927	56%	6%	3,184	81%	29%	2,984	76%	50%	2,698	73%	69%	9,793 4	- 3 =	3,264	4,687
	SVI	17	81%	15%	0			0			0			17 -	- 3 =	6	39
2019-20	District	4,512	94%	11%	11,000	85%	37%	10,867	86%	63%	8,881	74%	84%	35,259	÷3 =	11,753	14,064
	Central	1,697	100%	11%	4,230	90%	38%	4,323	91%	66%	3,445	76%	88%	13,695	÷3=	4,565	5,174
	North	1,365	94%	11%	3,070	83%	36%	3,059	85%	61%	2,721	78%	83%	10,216	÷3 =	3,405	4,083
	South	1,424	89%	10%	3,666	83%	36%	3,484	83%	60%	2,715	69%	79%	11,289	÷3=	3,763	4,742
	SVI	25	62%	13%	34	69%	30%							59	÷3=	20	65
2018-19	District	4,604	96%	11%	11,346	88%	38%	10,881	87%	61%	10,224	85%	88%	37,055	÷3=	12,352	14,061
	Central	1,728	96%	11%	4,222	90%	38%	4,122	88%	64%	3,971	88%	90%	14,042	÷3 =	4,681	5,183
	North	1,332	103%	11%	3,223	90%	39%	3,099	90%	65%	2,921	87%	90%	10,575	÷3=	3,525	3,922
	South	1,409	90%	10%	3,805	87%	37%	3,600	86%	56%	3,273	83%	86%	12,088	÷3 =	4,029	4,677
	SVI	135	75%	16%	96	44%	28%	60	28%	35%	59	27%	42%	350	÷3 =	117	278
2017-18	District	4,731	93%	11%	12,168	96%	40%	11,388	90%	66%	10,899	89%	92%	39,186	÷3 =	13,062	14,185
	Central	1,585	99%	10%	4,367	95%	39%	4,059	88%	66%	4,028	91%	92%	14,038	÷3=	4,679	5,090
	North	1,325	92%	11%	3,491	95%	40%	3,146	89%	66%	3,172	92%	92%	11,135	÷3=	3,712	4,021
	South	1,701	94%	12%	4,163	103%	42%	4,048	100%	71%	3,559	88%	96%	13,471	÷3=	4,490	4,660
2016.17	SVI	120	51%	10%	147	45%	22%	135	39%	32%	141	42%	44%	542	÷3=	181	413
2016-17	District Central	5,013	97% 98%	12% 10%	11,891 4,103	92% 84%	39% 36%	12,057	96% 91%	68% 63%	11,275 4,040	92% 88%	94% 89%	40,237 13,984	÷3= ÷3=	13,412	14,298
	North	1,583 1,491	103%	10%	3,392	93%	41%	4,259 3,457	91%	69%	3,324	96%	97%	13,984	÷3= ÷3=	4,661 3,888	5,246 4,004
	South	1,491	93%	12%	4,105	103%	41%	4,114	103%	72%	3,524	78%	97%	13,605	+3= +3=	4,535	4,004
	SVI	229	80%	12%	4,105	81%	42%	4,114	63%	55%	235	66%	72%	15,605	+3= +3=	4,555	4,595
2015-16	District	5,003	90%	11%	12,037	89%	38%	11,784	87%	63%	11,485	89%	89%	40,309	+3=	13,436	15,135
2015-10	Central	1,562	93%	9%	4,233	83%	35%	4,120	84%	60%	4,142	87%	85%	14,058	+3=	4,686	5,484
	North	1,451	96%	12%	3,373	89%	38%	3,325	91%	65%	3,274	92%	91%	11,422	÷3=	3,807	4,184
	South	1,749	88%	12%	4,120	102%	41%	4,084	93%	69%	3,786	94%	95%	13,740	÷3=	4,580	4,810
	SVI	242	61%	12%	310	58%	28%	255	48%	41%	283	55%	55%	1,089	÷3=	363	657
2014-15	District	4,997	90%	11%	11,961	89%	37%	12,136	90%	64%	11,803	92%	90%	40,898	+3=	13,633	15,135
	Central	1,552	93%	9%	4,318	84%	36%	4,368	89%	62%	4,328	91%	89%	14,566	÷3=	4,855	5,484
	North	1,552	103%	12%	3,433	90%	40%	3,446	94%	67%	3,391	95%	94%	11,823	÷3=	3,941	4,184
	South	1,609	81%	11%	3,900	97%	38%	4,058	93%	66%	3,783	94%	93%	13,350	÷3=	4,450	4,810
	SVI	284	72%	14%	310	58%	30%	264	50%	44%	301	59%	59%	1,159	÷3 =	386	657

	I	nternati	onal FTE	S (Sum	mer & Fa	all 2021 FII	NAL)	
						Total		Total
						Quarterly		Annualized
Year	College	Summer	Fall	Winter	Spring	FTES		FTES
2021-22	District	351	631	0	0	982	÷3=	327
	Central	187	413			600	÷3=	200
	North	61	120			181	÷ 3 =	60
	South	102	98			200	÷ 3 =	67
2020-21	District	772	1,060	950	802	3,585	÷ 3 =	1,195
	Central	435	622	535	461	2,053	÷ 3 =	684
	North	157	204	199	166	727	÷ 3 =	242
	South	180	234	217	175	805	÷ 3 =	268
2019-20	District	1,099	1,817	1,657	1,411	5,984	÷ 3 =	1,995
	Central	544	1,034	944	823	3,345	÷ 3 =	1,115
	North	265	374	327	295	1,261	÷ 3 =	420
	South	289	410	386	293	1,378	÷ 3 =	459
2018-19	District	1,298	2,227	1,999	2,023	7,547	÷3=	2,516
	Central	659	1,218	1,069	1,093	4,039	÷ 3 =	1,346
	North	323	491	443	454	1,711	÷3=	570
	South	316	518	487	476	1,797	÷3=	599
2017-18	District	1,551	2,661	2,421	2,466	9,099	÷3=	3,033
	Central	745	1,336	1,226	1,275	4,582	÷ 3 =	1,527
	North	468	753	661	655	2,537	÷ 3 =	846
	South	338	573	534	536	1,980	÷3=	660
2016-17	District	1,571	3,059	2,934	2,850	10,414	÷ 3 =	3,471
	Central	785	1,513	1,454	1,428	5,180	÷ 3 =	1,727
	North	455	922	869	848	3,095	÷ 3 =	1,032
	South	331	624	611	574	2,140	÷ 3 =	713
2015-16	District	2,012	3,583	3,143	3,056	11,794	÷3=	3,931
	Central	968	1,771	1,553	1,544	5,836	÷ 3 =	1,945
	North	563	1,057	933	886	3,440	÷ 3 =	1,147
	South	481	754	658	625	2,518	÷ 3 =	839
2014-15	District	2,065	3,760	3,740	3,722	13,287	÷ 3 =	4,429
	Central	1,158	2,153	2,048	1,947	7,307	÷ 3 =	2,436
	North	560	1,020	1,046	1,058	3,684	÷ 3 =	1,228
	South	347	587	647	716	2,297	÷ 3 =	766

	R	lunning	Start FTE	ES (Sum	mer & Fa	II 2021 FIN	IAL)	
						Total		Total
						Quarterly		Annualized
Year	College	Summer	Fall	Winter	Spring	FTES		FTES
2021-22	District	0	1,092	0	0	1,092	÷3=	364
	Central	0.3	438			438	÷3=	146
	North		311			311	÷3=	104
	South		343			343	÷3=	114
2020-21	District	0	1453	1,304	1,130	3,888	÷3=	1,296
2020-21	Central	v	589	521	463	1,573	÷3=	1,290
	North		447	399	330	1,176	÷3=	392
	South		417	384	337	1,138	÷3=	379
2019-20	District	0	1,548	1,477	1,294	4,319	÷3=	1,440
2013-20	Central	Ŭ	657	626	533		÷3=	606
	North		435	406	348	1189	÷3=	396
	South		455	444	413		÷3=	438
2018-19	District		1,327	1,286	1,180	3,793	÷3=	1,264
2010-15	Central		561	543	504	1,608	÷ 3 =	536
	North		351	333	282	966	÷3=	322
	South	0.7	415	410	394	1,219	÷ 3 =	406
2017-18	District	0.7	1,200	1,125	1,044	3,368	÷3=	1,123
	Central		512	478	426	1,416	÷3=	472
	North		297	264	257	818	÷3=	273
	South		391	383	361		÷3=	378
2016-17	District	0.8	934	898	833	2,666	÷3=	889
	Central		325	317	308	950	÷3=	317
	North		294	262	228	785	÷3=	262
	South	0.8	309	313	293	916	÷3=	305
	SVI		6	5	4	15	÷3=	5
2015-16	District	3.1	756.8	745.1	692.4	2197.5	÷3=	732
	Central		262	252	235	749	÷3=	250
	North	0.8	235	232	198	666	÷ 3 =	222
	South	1.0	244	245	242	732	÷ 3 =	244
	SVI	1.3	15	17	18	51	÷ 3 =	17
2014-15	District	0	670	665	631	1,967	÷3=	656
	Central		213	215	192	620	÷ 3 =	207
	North		221	212	197	630	÷ 3 =	210
	South	0.3	224	220	219	663	÷ 3 =	221
	SVI		13	18	22		÷3=	18
2013-14	District		616	602	550		÷3=	589
	Central		223	218	183		÷3=	208
	North		211	200	178		÷3=	196
	South		163	167	167		÷3=	166
	SVI		19	16	22	58	÷3=	19